SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Structures)

SECRET PLACES PHASE 7

53B2275

STRUCTURES

Engineering @ 10% Total Cost \$ 2,649.68 \$ 13,248.* Engineering @ 10% Total Cost	Description	Quantity	Unit	Unit Cost	Total Cost
Total Cost \$ 2,649.88 \$ 13,248. Engineering @ 10% Total Cost	SAS	5	ea	\$ 2,408.80	\$ 12,044.00
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Total Cost			\$ 2,649.68	\$ 13,248.40
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Otal Cost				
Total Cost Engineering @ 10% Total Cost	Engineering @ 109/				
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Engineering @ 10% Total Cost			****		
Total Cost Engineering @ 10% Total Cost	<u> </u>				
Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Total Cost Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Total Cost				<u></u>
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Total Cost				
Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Total Cost				L
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	lotal Cost				L
Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost			 		
Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost	Engineering @ 10%				
Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost Engineering @ 10% Total Cost					
Total Cost Engineering @ 10% Total Cost	Total Cost				
Total Cost Engineering @ 10% Total Cost					
Engineering @ 10% Total Cost					
Total Cost	lotal Cost		<u> </u>		L
Total Cost	Engineering @ 100/				
					<u> </u>
GRAND TOTAL COST \$ 13,248.			L 		L
	GRAND TOTAL COST				\$ 13,248.40

Prepared By:	MDM
Date:	10/10/2014

SANITARY SEWER PLANT VALUE

(Schedule 'A' / Sanitary Pipes)

SECRET PLACES PHASE 7

53B2275

PIPES

Description	Quantity	Unit	Un	it Cost		Total Cost
8" PVC	858.00	LF	\$	28.52	\$	24,473.88
Engineering @ 10%					\$	2,447.39
Total Cost			\$	31.38	\$	26,921.27
	T					
Engineering @ 10%						
Total Cost					<u> </u>	
Engineering @ 10%						
Total Cost					<u> </u>	
Engineering @ 10%					ļ	
Total Cost						
Engineering @ 10%						
Total Cost	-		<u> </u>			
Engineering @ 10%					ļ	
Total Cost	-		<u> </u>			
Engineering @ 10%						
Total Cost			<u> </u>		<u> </u>	
Engineering @ 10%	1					
Total Cost					l	
Engineering @ 10%			ļ			
Total Cost					l	
Engineering @ 10%						
Total Cost					ļ <u> </u>	
Engineering @ 10%						
Total Cost					 	
					ļ	
Engineering @ 10%			<u> </u>			
Total Cost	_				↓ _	
					<u> </u>	
Engineering @ 10%						
Total Cost			_		↓ <u></u> _	
					<u> </u>	
Engineering @ 10%				<u></u>		
Total Cost	_		1	******	 	
			<u> </u>			
Engineering @ 10%					 	
Total Cost			_		ļ	
					-	
Engineering @ 10%						
Total Cost	_L				<u> 1 — </u>	
GRAND TOTAL COST					\$	26,921.27

Prepared By:	MDM
Date:	10/10/2014

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Structures)

SECRET PLACES - PHASE 7

53B2275

STRUCTURES

Description	Quantity	Unit	Unit Cost	Total Cost
H inlet	7	EA	\$ 1,352.00	\$ 9,464.00
Engineering @ 10%				\$ 946.40
Total Cost		L	\$ 1,487.20	\$ 10,410.40
3'X3' SAS W/ H CASTING	2	EA	\$ 2,524.00	\$ 5,048.00
Engineering @ 10%				\$ 504.80
Total Cost	<u> </u>	L	\$ 2,776.40	\$ 5,552.80
5'X5' SAS W/ H CASTING	1	T EA	\$ 3,250.00	\$ 3,250.00
Engineering @ 10%				\$ 325.00
Total Cost	<u> </u>	<u> </u>	\$ 3,575.00	\$ 3,575.00
5'X5' SAS	1	TEA	\$ 3,275.00	\$ 3,275.00
Engineering @ 10%				\$ 327.50
Total Cost	+		\$ 3,602.50	\$ 3,602.50
Engineering @ 10%				
Total Cost		+		L
Engineering @ 10%				
Total Cost				L
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost		<u></u>		
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
Engineering @ 10%				·
Total Cost		.L		<u>L</u>
GRAND TOTAL COST				\$ 23,140.70

Prepared By:	
Date:	10/10/2014

STORM SEWER PLANT VALUE

(Schedule 'A' / Storm Pipes)

SECRET PLACES - PHASE 7

53B2275

PIPES

Description	Quantity	Unit	Unit Cost	Total Cost
12" RCP	131	LF	\$ 31.65	\$ 4,146.15
Engineering @ 10%				\$ 414.62
Total Cost			\$ 34.82	\$ 4,560.77
15" RCP	209	LF	\$ 34.30	\$ 7,168.70
Engineering @ 10%				\$ 716.87
Total Cost			\$ 37.73	\$ 7,885.57
18" RCP	65	LF	\$ 36.50	\$ 2,372.50
Engineering @ 10%				\$ 237.25
Total Cost			\$ 40.15	\$ 2,609.75
21" RCP	166	LF	\$ 38.75	\$ 6,432.50
Engineering @ 10%				\$ 643.25
Total Cost	L		\$ 42.63	\$ 7,075.75
24" RCP	321	LF	\$ 41.60	\$ 13,353.60
Engineering @ 10%				\$ 1,335.36
Total Cost	L		\$ 45.76	\$ 14,688.96
27" RCP	112	LF	\$ 44.90	\$ 5,028.80
Engineering @ 10%				\$ 502.88
Total Cost			\$ 49.39	\$ 5,531.68
Engineering @ 10%			ļ	
Total Cost				_
Engineering @ 10%				
Total Cost	 -			
Engineering @ 10%				
Total Cost				
Engineering @ 10%				
Total Cost				
		 		
Engineering @ 10%		·····		
Total Cost				
	 	 		
Engineering @ 10%				
Total Cost				
	+ -	† — — -		
Engineering @ 10%	<u> </u>			
Total Cost				
	 	 -		
Engineering @ 10%				
Total Cost				
	†	† -		
Engineering @ 10%				
Total Cost				
Engineering @ 10%	<u> </u>			
Total Cost				
GRAND TOTAL COST		··		\$ 42,352.48

Prepared By:	
Date:	10/10/2014

f.\enroot\priv_cont\contract finalization\schedule a\streets\2275 Street excluding bituminous Schedule A.xls

STREET PLANT VALUE DOES NOT INCLUDE BITUMINOUS SURFACE WITH SIDEWALK

SECRET PLACES-PHASE 7 53B2275

STREET

\$ 139,156.00	\$					GRAND TOTAL COST
					1	
] 				
1 1 1		 	1 1	+		
						MS LINK NO. 20859
	113.20		-	NOTAL TITLE OF FOCAL	Catallila Fairway	32' MIDE
13 680 80	445.00					MO LIVE NO. 2000
						32' WIDE
\$ 12,503.70	\$ 113.67 \$	두	110	North line of Lot 54	Catalina Parkway	Bellingrath Street
						MS LINK NO. 20866
				Charles and the state of the st	000000000000000000000000000000000000000	32' M/IDE
\$ 29 727 90	116.58	 	755	Catalina Parkway	-	MS LINK NO. 20856
						40' WIDE
\$ 20,023.50	\$ 133.49 \$	- FF	150	Bellingrath Street	West line of Lot 19	Beegs Road
						MS LINK NO. 20861
		ļ				40' WIDE
22 202 10	\$ 137.05		162	East line of lot 55	Red Barn Run	Catalina Parkway
						40' WIDE MS I INK NO 20860
	\$ 140.06 \$	타	300	Red Barn Run	Bellingrath Street	Catalina Parkway
Total Cost	Unit Cost	Unit	Quantity	To	From	Description
						01700

TOTAL STREET IMPROVEMENTS \$

172,409.75

Prepared By: Date:

10/10/2014 CD

f:\enroot\priv_cont\contract finalization\schedule a\streets\2275 Street excluding bituminous Schedule A.xls

STREET PLANT VALUE SIDEWALKS

SECRET PLACES-PHASE 7 53B2275

GRAND TOTAL COST				(1)					MS LINK NO. 20859	5' WIDE	Red Barn Run	MS LINK NO. 20858	5' WIDE	Bellingrath Street	MS LINK NO. 20866	5' WIDE	Bellingrath Street	MS LINK NO. 20856	Z, MIDE	Beegs Road	MS LINK NO. 20861	5' WIDE	Catalina Parkway	MS LINK NO. 20860	Catalina Parkway	Description	
											Catalina Parkway			Catalina Parkway			South line of Lot 17			West line of Lot 19			Red Barn Run		Bellingrath Street	Limits	
											North line of Lot 41			North line of Lot 54			Catalina Parkway			Bellingrath Street			East line of Lot 55		Red Barn Kun	Limits	
					1			 	1	80	925		90	795		80	2130		115	1170		125	1495	235	2635	Quantity	-
					 			 	 	SF	SF		SF	SF		SF	SF		SF	SF		SF	SF.	ų	Ϋ́	Unit	
					1			 	_ <u> </u> 		€	l		49	ı		 			 & 			₩	4	•	Unit Cost	-
 ⊌			 		 - -			 -	 	4.85 \$	3.25 \$		4.85 \$	3.25 \$			3.25 \$			3.25			3.25	4.00			7
33,253.75										388.00	ω	 	436.50	2,583.75			6,922.50			3,802.50			4,858.75	1,139./5		l otal Cost	1-1-1

Prepared By: _ Date: _ 10/10/2014